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~ Note: This paper is divided into two Secnons-A and B. Section- -A contains Short Answer Questions aga

b ! Section-B contains Descriptive Answel Question. Attempt all the Section as per instruction. 38 FRA-14
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Note In this Section Q. No. 1 contains ten parts, all parts are compulsory. Each part carries | 4/.; marks
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1. ()  Findthcequationofthe asymptotes of the conic —;32 +52xy - 32), —170x+ l-l()y =),
wMFd 75 +52xp - 3%» - 170x + 120y = O'aﬁ mwﬁwﬂ gl wﬂw EG) aﬁﬁm

e 5
(i) Find the pointon the conic E-3—8 cosé whose racllus vector is. 2 W -3 Bcow TTI EId ﬁlﬁ
3 e, e B Hﬁm 2% o

'(iii_) Find the acute angle between two lines whose direction cosmes are given by the reiatrons
: mmﬁmm%mmaﬁmmaﬁﬁqﬁmﬁﬁ%aﬁmﬁﬂw&nmﬁmﬁ
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!+m+n-'0 12 +m2 -n° 2_0.

(iv) Find'the area of a triangle whose vertices are (1.2.3), (2,-1. 1)and (1,2, -4). '
—qﬁgﬂmmmmﬁﬂﬁwﬂﬂ(l,_,n (0, <4 B e (1,2,- 4) 2l

(v) Findthe equatlon of the sphere which passesthrough thepou‘nt (.3, }’)and thecircle x +v2—a« =

.fﬂ% (aﬁy)ﬂ%‘ﬂq_ﬂ x +y —a ——Oﬁﬁmﬁﬁmﬂﬁwmmml
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(vi) Findthe equatlon of the cylinder whose generators arc parallel to the line T"E—E and the vmdmg

curve is the ellipse x2+2y%=1,z=3.39 Ao 1 TR I it foER S 3@1 S S
& AR 2 o ForE SN T SHH 1?42y =1, 2=3 i

(vii) Find the equanon of the tangent plane to the conicoid 3x2 ..5y 42 +2 —patthe point(l, 1,0).
WFA 35252 +22+2= —o fag (1,1 )mwﬁﬁammmaﬁml

(viiiy Show thatthe plane x+2y+32=2 touchesthecomtold x” _7,. T o % .
frearee, i T r2yeaz=2 WA 52 _2y? 4327 = zﬁmm

(ix)  The vector a(/) has a constant magnitute. If apd only if a a~— ﬁ_U

ol Hﬁmau)aﬁlmwﬂmqﬁaﬁtmuﬁa~——o

a=li- 3;-!-2!.{

w IR B=i-2j+2%
X |t

e=31+j-k

; " . ) 2 X 8 ¥
then find the value of Al I e fi a.(bxe)dt.
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Unit-1 it. Each questlon C'lrrles 5/ lOmarks

Note: This Sectlon contains four Units. Attempt one question from e eq%l;" e /10 5 T
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Trace the hyperbola; 3tfqeerer wt frefa HiRT: 3,;-2+|nxv+3y‘ —26x-22y+4350. " " Sy

Prove that: fag ﬁﬁq f&: di_v[grnd—]- )=(l
4 (b
Ulllill-“ - i s

Prove that the lines “—\:;2"3&‘::—]&3 and 6x+4 y—5z=4, x5 y+2:=12 are coplaner. Find also their point of
| . x-9_y+4_=-5
mtcrscmon 'md the equatlon oflhe plane in which they lie. |E@I$Q for tam =~ y_l ok

Ox+4y—5z=4, x~5y+2z=12 GHTET &, swem g f mg il aﬂﬁqaw 34 gHad arutﬁaa‘m i o
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A.variable plane is at a constant dlstan-::e p fromthe orlgm and meets the ax:s in A, B and C. Show that the

Iocusofthecent[mdoftr]angleABClsx +y2427229p72, T R/ FHqA qeiag 9 p @q{*s"d?‘ﬂ
3T 1 4, Bcﬁ@nmm%lm#m%ﬁgw B, C% o 1 0590 24,24 29,2 BFTI

Unit-111
Rc,duce the equation HHRT: 7,; iy v2+2_2 IOvL—S:x—I0.xy+6x+l2y—6:+5=0 to the stilndard form.
F1 9H% w9 § fafau) :
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Fmd the radius and centre ofthe circle of intersection of the sphere x24,24-2.9,_ vz=11 and the plane

x+2)+22=15 T 5243242 oy ooy | TN HAAA x4+2y+22=15 umq}qﬁq—m et g9 H
H%Wﬁﬁ&ﬁfﬂl

Unit-1V
Prove that the equation: firg &ifs fo wHaor: ' AT
u\j + bvz + (_2 + 2ux + 23 v+ 2w + d=0 |eprt,sentsacone if: Ueh Ticp a'?f QQ”E" %Irf? —+ L+"—F-—_d

Evaluate [ F.dr. where ;—,(1 .,.v 2y 2WJ curve C is the rectangle in the w—plane bounded by y=0,
v=d. yeb, =0, F=(x24y)i-2apj W [o Fdr. srmﬁﬁm ST C.xy- WHael ¥ T 31 &

y=0.x= al—bx‘()'{?lam% / 1 )
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